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. Ifsin2B = 2sinB, thenB=

(i) 45° (ii) 30° (iii) 0° (iv) 90° (v) 60°

1 1
. f sin(D+ E)=-2-\/3 and sin(D—E)=E findD& E

(i) D=46°,E=16° (ii) D=43°,E=13° (iii) D=44°,E=14° (iv) D=47°,E=17° (v) D=45°,E=15°

. If tan(B + C)=\/-3 and tan(B — C)=w/% ,findB&C

(i) B=43°,C=13° (ii) B=46°,C=16° (iii)j B=44°,C=14° (iv) B=45°,C=15° (v) B=47°,C=17°

. cot30°sin0° + tan60°cot90° =

(i) (=1) (i) 0 (i) 3 (iv) (=3) (v) 1

cos30°tan45°sin60° — tan0°sec60°sec30°
" cos60°cosec45°sin90° + sec45°cosec30°tan60°

(i ( i\/_1+i\/6) (i) ( i\/§+£3) (iii) ( i\/§+if/€) (iv) ( i\/§+i\/€3)
188 47 188 47 188 47 188 47

(v) ( 3 V5 + 3 V6)
V —_— -
188 47

sin61° _
" cos29°

(i) tan6l° (ii) tan29° (iii) -1 (iv) 1 (v) O

cos44°_
" sind6°
(i) tan46° (ii) tan44° (iii)) 0 (iv) -1 (v) 1

’;an57°_
" cot33°
(i) tan33° (ii) 1 (iii) tan57° (iv) 0 (v) -1

;ot15°_
" tan75°
(i) -1 (ii) O (iii) tan15° (iv) tan75° (v) 1

sec9°

" cosec8l°

(i) O (ii) 1 (iii) -1 (iv) tan81° (v) tan9°
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cosec9°®

5ec81°

(i) 0 (ii) -1 (iii) 1 (iv) tan81° (v) tan9°

sin16°cos20°

cos74°sin70°

(i) -1 (ii) tan16° (iii)) 1 (iv) 0 (v) tan20°

cos70°sin57° B
sin20°cos33°

(i) -1 (i) O (iii) tan70° (iv) 1 (v) tan57°

tan24°cot57° _
cot66°tan33°

(i) tan24° (ii) -1 (iii) 0 (iv) 1 (v) tan57°

cot28°tan20°

tan62°cot70°
(i) tan28° (ii) -1 (iii) tan20° (iv) 0 (v) 1

sec8°cosec8°

cosec82°sec82°

(i) -1 (ii) tan8° (iii) 0 (iv) 1

cosec1l0°sec65°® _
sec80°cosec25°

(i) tan65° (ii) O (iii)) 1 (iv) -1 (v) tanlO0°

sinl16° — cos74° =

(i) O (ii) -1 (iii) 1 (iv) 2sin74° (v) 2sinl6°

c0s84° — sin6° =

(i) O (ii) 2sin6° (iii) 1 (iv) 2sin84° (v) -1

tan50° — cot40° =
(i) O (ii) 2sin50° (iii) 1 (iv) -1 (v) 2sin40°

cot74° — tanl6° =
(i) 1 (ii) -1 (iii) 2sin16° (iv) 0 (v) 2sin74°

sec65° — cosec25° =

(i) 2sin25° (ii)) 1 (iii) -1 (iv) 2sin65° (v) O

cosec24° — sec66° =

(i) 2sin66° (i) 1 (iii) 0 (iv) -1 (v) 2sin24°

sin86°c0s49° — cos4°sin4l® =

(i) -1 (ii) 2sin86° (iii) 0 (iv) 1 (v) 2sin49°
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c0s53°sin49° — sin37°cos41° =

(i) 2sin53° (i) -1 (iii)) 1 (iv) O (v) 2sin49°

tan75°cot80° — cot15°tan10° =
(i) 2sin80° (ii) -1 (iii) 2sin75° (iv) 0 (v) 1

cot67°tan62° — tan23°cot28° =
(i) 2sin67° (ii) O (iii) 2sin62° (iv) -1 (v) 1

sec28°cosec88° — cosecb2°sec2°® =

(i) -1 (ii) 2sin88° (iii) 2sin28° (iv) 0 (v) 1

cosec81l°sec82° — sec9°cosec8° =

(i) 1 (ii) O (iii) 2sin81° (iv) 2sin82° (v) -1

sin45°c0s90° + cos45°sin90° =

(i) 1 (i) ;V4 (iii) lVZ (iv) ;32 (v) ;Vi
i i) 5 i) 5 v) 2 V) 5V3

8
In AABC, right angled at B, if tanA=-9 ,find sinAcosC + cosAsinC

8 . 1 9 . 1 .
i) - v145 (i) 1 (iii V145 (i V145 V145
(i) 145 (ii) (iii) s (iv) 145 (v) 9

5
In ACDE, right angled at D,if tanC = 5 ,find cosCcosE — sinCsinE

1 1 5 9
i) 0 (ii v106 (iii v106 (i v106 - v106
(i) (ii) 5 (iii) 5 (iv) 106 (v) 106

Find the value oftan25°tan50°tan65°tan40°
(i) 0 (ii) undefined (iii) 1 (iv) -1 (v) 2

Find the value ofcot35°cot40°cot55°cot50°
(i) -1 (ii) 2 (iii) O (iv) undefined (v) 1

o2 2
sin 15° + sin 75°

2 2
cos 80° + cos 10°

(i) -1 (i) O (iii) undefined (iv) 2 (v) 1

sin65°co0s25° + cos65°sin25° B

sin35°co0s55° + cos35°sin55°

(i) O (ii) 1 (iii) undefined (iv) -1 (v) 2

sin23° + cosb52° =

(i) cos67° + sin38° (ii) cos67° + cos38° (iii) sin23° + sin52° (iv) cos23° + sin52°
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cos47° + sin44° =

(i) sin47° + cos44° (ii) sin43° + cos46° (iii) cos47° + cos44° (iv) sin43° + sin46°

tan45° + cot34° =
(i) cot45° + tan56° (ii) cot45° + tan34° (iii) cot45° + cot56° (iv) tan45° + tan34°

cot69° + tan23° =
(i) cot69° + cot23° (ii) tan21° + cot67° (iii) tan69° + cot23° (iv) tan21° + tan67°

sec33° + cosec75° =

(i) cosec33° + sec75° (ii) sec33° + sec75° (iii) cosec57° + sec15° (iv) cosec57° + cosecl5°®

cosec41® + sec71° =

(i) secd49° + cosecl19° (ii) sec41® + cosec71° (iii) cosec41l® + cosec71° (iv) sec49° + secl9°®
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